LR A RS EER e

— EPFERE (RKRESL 8 /M, B3 5y, $L245)

meE 1| 2134|5678
%% | B| D| D | A| 4| 4] B | C

=\ AT (KK /N, BAE3 o, H 2457
9. (a+3)(a-3) 10. 36 11. 1% 12. 300+4x < 600
13. 40 14. 86 15. -15 16. 2

= BEE (E29)

17. (1) JFERX=4-3-1 @ coeeeeeeecreciennnnnnanae. 34y (FXF—ANE 14
=() = eeeeeecccicceniiiiiiieinnn 4§J\
(2) JAR=m® —d4m® —m® e 34y (X —AME 140
=—4m® e 44y
18. (1) H5x-10<0, BXx <2 reervececcanianiennn. 2 4y
B x4+3>2x, 8 x>—1 «reeereeeernaecienennns 4 4y
SR RAMIFRERN: —1 < x KD verrerrersersanaacaennns 5 §j\

(2) E‘E{2x+1>x_l’ ?’%“‘: X D> —D  eeeeeccccccceenans 2§j\
EEX_IS%(zx_l)’ ?’%“‘: xsz .................. 463\
ORI —2<X <2 seeeeereneeennens 5 4%

x=1 x=3
19. (1) < eeeeeeiieeenn 4 4y (2) 4 eeeeeeeenn. 4 5
y=2 y=—4
20. JATR =g —4a4+a® —141 wweverreeneeenenannns 3 4
=202 —4q  eeeceescecsceciiecens 4 4y
Vvat-2a+1=0
R R L 54
..................... 6 4

#
b=
H
b=



21. ZCDE (FREZRTAT, WEMMEE)  ceeeerereniinnn 24)

[ TP TP TPPPPP P PRSP PR 345
ZA ( ZEBARL) ceeeerneenneninnnn 54y
([FINT AL, THEZETFAT)  eeerererrreneecennes 6 4>

22. (1) ' AB// DE

S S BAC= S EDC  veeereeeresesenens 14y
TE/NABC FIADEF
AB = DE
ZBAC — ZEDC .................. 4 ﬁj\
AC = DF
. ANABCLR/A\DEF  ceeeeccesceceeccs 54y

(2) v AABCLADEF
S LF=/ACB S E=/B=88°  cceecereriecccanns 6 4
fEAABC W, £A4=55°, /B =88°
So ZC=180°-559-880=37C  cecececcrcececcns 7 4y
UL F=370  eeeerecrececcnnns 8 4

23. (1D BWzFE PR FEE R x oo, DMRERENEEREMyy o,  HEES.

{15x+35y=360 .................. 3 4y
18x+20y =300
fRAe {x=10 .................. 44
y=6
e I R 10 T0, NI RO 7 SRR 6 Threeee e 4
(2) b RIIEAT a i, TN (70 - o), I T
100+ 6(70—a) =500 seeeeeseeeneeennes 8 43
fRAB . >0 eeeeeecevececeens 9 4y
2, HRNRZE G/ DT 20 B, eeeveeveeeeneennns 10 4y
24, (1) ] eeeeeeveeeenernennens 2 4%

(2) " Z4ABC=/BCD =90°

OHAMBP £ APCN i, N BM=PC, BP=NC,

#
[\
b=
H
b=



(3)

4 LT, i—i{“ -0

Ya=Z, =2
A

" ZLABC = ZBCD =90° AN

S LAMD = ZCDM,

I a]a=05 6 4>
5_t=4_al t=2
@HAPBM 2 APCN i, W BP=PC, BM=NC,
..................... 10 ﬁj\

S—t=t -
! o=l
5-1.5t=4-at t=2.5

EE{“:“EW, Bl P. B M TSI = fi 5 APCN 4.

t=2 t=2.5

3 8
8 3 S
S DN=at=1, AM=15t=4 .
S AM=CD

s, % AC 5 MD T 51 O M

S.AB// DC

ZBAC= ZDCA

HEAAOM FIACOD

ZAMD = Z/CDM
AM =CD
/BAC = ZDCA
S ANAOML NANCOD
S04 = 0OC 0 eeeeeeeeseceneiiinen 13 ﬁj\
S SauaD0 = SAcpOs SadEO = SACEO
SoSAADE = SACDE ~— teeeeceeesseeeeeeeees 14§J\
33|



